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Please check that this question paper contains 16 printed pages + 2 Maps.
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Please check that this question paper contains 36 questions.
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General Instructions

(1)
(idi)

Questions from seriql number 17 to 29 gre 3 marks questions.
Answers of these questions should not exceed 80 words eqch.

Questions from serial nu
Answers of these question

ap question of 2 marks from History
and Question number 36 is a map question of 8 marks from
Geography.

(Vii) Attach the filled up maps inside your answer book.
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On which one of the following items is L.S.L used as a logo ?
' (A) LPG. Cylinder

B) Jewellery
- (C) Gold

(D) Agricultural products
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Which one of the following Indian industries has been hit hard by
globalisation ?

A LT

(B) Toy-making
(C) dJute

| (D) Cement
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Who, among the following, formed the ‘Sﬁraraj Party’ within the

Congress to argue for the return to council politics ? ,
(A)  C.R. Dass and Jawaharlal Nehru |

(B) Motilal Nehru and C.R. Dass

(C)  Subhash Chandra Bose and Motilal Nehru

(D) Shaukat Ali and Muhammad Ali
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Abdul Ghaffar Khan was a devout disciple of which one of the
following leaders ? ‘

(A) Mahatma Gandhi
(B) Motilal Nehru
(C) Jawaharlal Nehru
(D) Subhash Chandra Bose

5. ﬁmﬁ@amﬁﬁmwmwmﬁmﬁmm

g2 1
(&) s ’ ' |

(B) =d

(C) 3=

(D) Sy

Which one of the followmg minerals is formed as a result of
evaporation espemally in arid regions ? :

(A)  Zinc

(B) Silver
(C)  Mica
(D) Gypsum
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Which one of the following type of countries has been more benefited
from globalisation ?

(A)  Rich countries
(B) = Poor countries
(C)  Developing countries

(D)  Developed countries
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Which one of the following means of transport is used for carrying
solids in a slurry form ?

(A)  Trucks
(B)  Railways
(C) Pipelines
(D) Ships
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Which one of the following is an essential feature of barter system ?

(A)
(B)
©
(D)

It promotes local market.
It spreads social field of an individual.
It requires double coincidence of wants.

It is an easy way.
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Which one of the following is not a feature of foundational challenge ?
(A) It involves strengthening of the institutions and practices of
democracy.
(B)  To keep military away from controlling government.
(C)  Bringing down the existing non-democratic regime.
(D)  To establish a sovereign and functional state.
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Which one of the following is a better way to carry out pohtlcal
reforms in a democratic country ? ,

'(A)  Legal changes
(B) Empowerment of people
(C)  Constitutional changes

(D) - Legislation reforms
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Which among the following countries has avrone—p'a’rty system ?

(A) U.S.A.
B) UK.
(C) China
(D) Japan
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Which among the following features is related to the long term
movements ?

(A) They are multiple issue movements.
(B) They are issue specific movements.
(C) They have a clear leadership.

(D) There is no single organisation.
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Which one of the following ports is the. premier iron-ore expdrting
port of the country ?

(A) New Mangalore Port
(B) Marmagao Port
(C)  Vishakhapatnam Port

(D)  Paradip Port
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Which one of the following industries generates the largest amount of
employment ? ' : ' ‘

(A)  Cotton Industry
(B) Jute Industry
(C) Silk Industry

(D) Textile Industry
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Under which one of the following treaties was Greece recognised as
an independent nation ?

(A) A Treaty of Vienna
(B) Treaty of Versailles
(C) Treaty of St. Germain

(D) Treaty of Constantinopole of 1832

OR

Which one of the following is not the characteristic of Hoa Hao
movement ? ’

(A) It began in 1939.
(B) It gained great populariﬁy in Mekong Delta area.
(C) It was led by officials at the imperial court. |

(D)  Huynh Phu So was a founder of this movement.
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Which one of the following was an ‘aﬁegory’ of the German natioﬁ ?
(A)  Marianne

(B) Blindfold woman

(C)  Germania .

(D) None of these
| " OR

Who among the following was intensely hostile to the monarchy in
Vietnam ?

(A)  Phan Boi Chau

(B) Liang Qichao

(C)  Phan Chu Trinh
(D) k Huynh Phu So -
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How are the consumers exploited in the marketplace ? Explain with
three examples.

“gor I A A e, % uiftgfdl Wl s g i”%ﬁmmﬂé‘%g)

@ %o Iy A | 1-+1-=3
“Whether credit would be useful or not, it depends on the situations.”
Give two different examples in support of this statement.

My disaie el % gEy SUReT Rl S g ® WE SN | 3x1=3

Explain the three major challenges faced by modern democracies.

AFTSE S ST0RT AlSais TN & el dF 01 & = SN | 3Ix1=3

Explain any three merits of democratic governments over the
dictatorship.
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Describe the impact of ‘The Revolution of the Liberals’ of 1848 in
Europe.
OR

Describe any three steps which were taken by the French to suppress
the movement inspired by the Huynh Phu So.

“qrg B oo TE B TR AiedT & w2 1 39 Sy & Sl ufed
7Y T ) 3x1=3

“There is lack of internal democracy within political parties in India.”
Support the statement with examples.
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How do democracies stand much better to any other form of
government in promoting dignity and freedom of the citizens 7
Explain.
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How was history re-interpreted in creating a feeling of nationalism ?
Explain with examples.

ﬁaﬁw%aﬁma&r@éﬁﬁmwﬁsﬁﬁm@@% ? wWE
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How is solar energy becoming popular in rural and remote areas of
India ? Explain.

‘=¥ Tl F oo T gWERl & EET IuE % f e Su S
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“We have to adopt a cautious approach for the judicious use of our
limited energy resources.” = Support the statement with three
examples. '

i eI T Y YER SR S EUIER S FH S Tl A g & ¥ Aeg
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How do the SHGs help borrowers to overcome the problem of ‘lack
of collateral’ ? Explain with example. '

g i SRl & et ¥ feR % fow ea F-wdm =t 9 a6 A @)
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Explain the role of the ‘three-tier quasi Judlclal set-up for redressal

of consumer disputes in India.
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“pAdvancement of international trade of a country is an index to its
economic prosperity.” Support the statement with three arguments.

“ToTE-gE S STIeE TeHI W - aw T o Ted § 1 5 IR ol
&:T it | 4dx1=4

“Pressure groups and movements exert influence on politics in a
variety of ways.” Explain any four ways.

S offs o & i sEw s o i TS g S I | 4
FExamine the role of industrial working class in the Civil Disobedience
Movement.
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How do industries cause water pollution in India ? Explain any four
points.

‘W’ﬁ‘mﬁ%w’ﬁm%sﬁwﬁmwaﬁﬁﬁmwﬁ
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Explain four ways in which ‘globalisation’ and ‘the "pressure of
competition’ has changed the lives of workers substantially 7 Explain.
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“The 1830s were years of great economic hardship in Europe.”
Support the statement with four examples.

OR

How did Japan and China inspire Vietnamese nationalists to drive
out the French from Vietnam ? Explain.
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Two features — A and B, are marked in the given political outline

map of India (on page 17). Identify these features with the help of
the following information and write their correct names on the lines
marked in the map :

A. The place, where Indian National Congress Session of December
1920 was held.

B. The place, where Jallianwala Bagh incident took place.
OR

Locate and label the following items with appropriate symbols on the
same given political outline map of India (on page 17) :

(i) Champaran — the place, from where the movement of Indigo
planters was started.

(ii)  Bardoli — the place, from where ‘No Tax Campaign’ was started.

36. T @ — A, B 3R C, wa F U MU worifs WRART (TR 19) W sifed
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| Three features — A, B and C, are marked in the given political

outline map of India (on page 19). Identify these features with the

‘help of the following information and write their correct names on

the lines marked in the map :
A. Coal mines !
B.  Software Technology Park |

C.  Terminal Station of East-West Corridor |
OR |

Locate and label the following items with appropriate symbols on the

~ same given political outline map of India (on page 19) :

6)) Salem — Iron and Steel Plant

(i) Kakrapara — Nuclear Power Plant

(iii) Paradip — ’Sea Port

P frEfaaa 399 dad gﬁzﬁ? qﬁaﬂﬁaﬁ & [T 797 9 35 3#?36 & T
S W §

- Note : The following questzons are for the Blind Candzdates only, in

lieu of Q. No. 35 and 36 : '
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(35.1) Name the place, where the Indian National Congress Session of
December 1920 was held.

(35.2) Name the city, where the Jallianwala Bagh incident took place.y
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36. (36.1)
(36.2)

(36.3)

(36.1)
(36.2)

(36.3)
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In which state is Salem Iron and Steel Plant located ?

Name the state, Where Kakrapara nuclear power plant is

~ located.

In which state.is the Paradip sea port located ?
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For question no. 35
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Outline Map of India (Political)
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For question no. 36 99 €. 36 % fog

Outline Map of India (Political)
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